
A person is approaching a plane mirror with speed 10cm/sec. if the initial distance between 

person and mirror is 1m.then the distance between person and his image after 2.5sec will be?? 

Solution 

The distance between person and his image is doubled distance between person and mirror. So 

the initial distance between person and his image: 

𝑑0 = 2 ∗ 1𝑚 = 2 𝑚. 

When person is approaching a plane mirror with speed V his image also approach a plane mirror 

with speed V. So the approach speed between person and his image is 

𝑉𝑎𝑝𝑝 = 𝑉 + 𝑉 = 2𝑉 = 2 ∗ 10
cm

s
= 20

cm

s
= 0.2

m

s
. 

The distance between person and his image after 2.5sec will be 

𝑑 = 𝑑𝑜 − 𝑉𝑎𝑝𝑝 ∗ 𝑡 = 2 − 0.2 ∗ 2,5 = 1.5 𝑚. 

Answer: 𝟏. 𝟓 𝒎. 
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